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passage A

Following are comments about the behavior that people in the U-
nited States usually expect in various social situatiens.
Introductions and Conversation. Men usually shake hands with

each other when they meet for the first time, but shake hands with
women only if the woman extends her hand f\rst. Women do not usual-
ly shake hands with each other.

After the first meeting, shaking hands is n6t customary. Howev-
er, if someone offers his or her hand in a subsequent encounter, one is
expected to shake it. In general, people in the United States avoid
physical contact with each other, since physical contact frequently con-
notes™¥ sexual attraction or aggressiveness@.

Although, as has been noted, first names are used more frequent-
ly in the United States than elsewhere, this practice is governed by cer-
tain generally accepted rules of etiquette®. Thus, while it is appropri-
ate for the foreign student to address people of'his or her own approxi-
mate age and status by their first name, the student would be expected
to use "Mr.”, *Mrs.”, "Miss” or "Ms. # and the person’s last name in
addressing another individual who is clearly older than the student.
(on the other hand, the older person will probably address the student
by his or her first name from the begining. > H the other person being
addressed has a title such as ” Ambassador” or " Dean”, the student
should usé that title and the last name. For example, Senator Edward

@ connoteCke’ naut) BEwRE
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Kennedy would be addressed as ”Senator Kennedy”. Any faculty mem-
ber can be addressed as ” Professor,” regardless of whether he or she

holds the rankv of Assistant Professor, Associate Professor, or full

Professor. Equally acceptable are "Mr.”, "Mrs.”, etc.

1.

From the passage above, it can be inferred that in the United States

(A) it is impossible for woman to shake hands with man

(B) it is impossible for woman to shake hands with the same sex
(C) it is not common that women shake hands with the same sex
(D) woman always shake hands with the same sex

. If the man you meet for the second time want to shake hands with

you, you just .

(A) tell him that it is not good for men to shake hands again when
they meet second time

(B) refuse his hand - shaking

(C) smile but then refuse

(D) take his hand

. If you meet a man whose name is John Smith and who is much older

than you. it is better for you to call him

(A) John (B) Mr. John
(C) Mr. Smith (D) Smith
. I your classmate’s name is John Smith, it is better for you to call
him .
(A) John : (B) Smith
(C)  Mr. Smith (D) Mr. John Smith

. The word "address” in the last paragraph most probably means

(A) write the address on the envelope
(B) write a letter to

(C) ask somebody to give you his address
(D) speak to

passage B

A growing world’s population and the discoveries of science may
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alter this pattern of distribution in the:future.. As men slowly learn to
master diseases, control floods, preveént famines®, and stop wars,
fewer people die every year; and in consequence the population of the
world is steadily increasing. In 1925 there were about 2 000 million
people in the world; by the end of the century there may well be dver 4
000 million.

When numbers rise, the extra mouths must be fed. New lands
must be brought under cultivation, or land already farmed made to
yield larger crops. In somé areas the accessible land is largely so inten-
sively cultivated that it will be difficult to make it provide more food.
In some areas the population is.so dense that the land is parcelled out in
units too tiny to allow for much improvemént in farming methods.
Were a large part of this farming population drawn off into industrial
occupations, the land might be {farmed much more productively by
modern methods. :

There is now a race for science’, technology, and industry to keep
the output of food rising faster than the number of people to be fed.
New strains of crops are being developed which will thrive in un-
favourable climates: there are now farms beyond the Arctic¢ Circle in
Siberia and North America; irrigation and dry - farming methods bring
arid?® lands under the plough, dams hold back the waters of great
rivers to ensure water for the fields in all seasons and to provide elec-
tric power for new industries; industrial chemistry p.rovides fertilizers
to suit particular soils; aeroplanes spray crops to destroy locusts and
many plant dise.ses. Every year some new means is devised to increase
or to protect the food of the world. 7
6. The author says that the world’s population is growing because

(A) there are many rich valleys and fertile plains
(B) the pattern of distribution is being altered

@ famine(’ femin) L3
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(C) people are living lo,nger.
(D) new land is lu;ing brought under cultivation
. The author says that in densely populated areas the land might be
more productively iatmed if
- (A). the plots wexa subdivided
(B) a large past of the people moved to a different part of the
country : ’
(C) industrial metﬁodl were used in farming
(D) the units of land were ' made much larger
. We are told that there are now farms beyond the Arcitic Circle.
This has been made possible by
(A) producing new strains of crops .
(B) irrigation and dry - farming methods
(C) providing fertillizers -
(D) destroying pest';?and diseases
. 1f a large part of {o_n:ning population are employed in industry, the
land may be cultivated .
(A) by modetn methods (B) worse

(C) byold method:s (D) better
10. Which of these words is nearest in meaning to the word ‘strains’?
(A) types i, o (B)  sizes .
(c) seeds ~ (D) harvests

11. This passage focuses or\i )

(A) population =

(B) food production

(C) control of diseases

(D) development of science and technology

12. The author’s main purpose is to -

(A) argue a belief~ (B) describe a phenomenon
(C) be entertaining "~ (D) propose a conclusion

passage C

Hydrogeology is a seience dealing with the properties, distribu-
L )



tion, and circulation of water on the surface of the land, in the soil and
underlying rocks, and in the atmosphere: The hydrologic cycle, a ma-
jor topic in this science, is the complete cycle of phenomena through
which water passes, beginning as atmospheric Wwater vapor , passing in-
to liquid and solid form as precipitation thence .along and into the
ground surface, and finally again returning to the «fdr‘m: of atmospheric
water vapor by means of evaporation and transpiration.

The term "geohydrology” is sometimes etxonéously, used as a syn-
onym for " hydrogeology”. Geohydrology is concerned with under-
ground water. There are many formations that contain water but are
not part of the hydrologic cycle because of geplogic changes that have
isolated them underground. These systems are properly termed geohy-
drologic but not hydrogeologic. Only when a system possesses natural
or artificial boundaries that associate the water within it with the by—
drologic cycle may the entire system properly be terined hydrogeologic.
13. The author’s primary purpose is most probably to

(A) present a hypothesis (B) refute an argument

(C) correcta misconceptipn (D).. predict an occurrence
14. It can be inferred that which of the following is most likely to be

the subject of study by a geohydrologist? ’ '

(A) Soft, porous rock being worn away by a waterfall.

(B) Water depositing minerals on tht banks of a gorge through

which the water runs.

(C) The trapping of water in a sealed underground rock cavern

tﬁrough the action of an earthquake. «
(D) Water becoming unfit to drink thréugh the release of poliu-
tants into it from a manufacturing plant.
15. The author refers to "many formations” (line 11) primarily in or-

der to .

(A) clarify a distinction (B) introduce a subject

(C) emphasize a similarity (D) resolve a conflict
passage D

An important new industry, oil refining, grew after the Civil
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War. Crude oil, or petroleum (a dark, thick coze® from the earth)
had been known for hundreds of years. But little use had ever been
made of it. In the 185%0's Samuel M. Kier, a manufacturer in western
Pennsylvania, began collecting the oil from local seepages@ and refin-
ing it into kerosene®, Refining, like smelting, is a process of removing
impurities from a raw material.

Kerosene was used-to light lamps. It was a cheap substitute for
whale oil, which was becoming harder to get. Soon there was a large
demand for kerosene. People began to search for new supplies of
petroleum. : :

The first cil well was drilled by E. L. Drake, a retired railroad
conductor. In 1859 he began drilling in Titusville, Pennsylvania. The
whole venture seemed so impractical and foolish that onlookers called it
"Drake’s Folly”. But when he had drilled down about 70 feet (21 me-
ters), Drake struck oil. His well began to yield 20 barrels of crude oil
a day.

News of Drake’s success brought oil prospectors to the scene. By
the early 1860’s these wildcatters were drilling for ”black gold” all over
western Pennsylvania. The boom rivaled® the California gold rush of
1848 in its excitement and Wild West atmosphere. And it brought far
more wealth to the prospectors than any gold rush.

Crude oil could be refined into many products. For some years
kerosene continued to be the principal one. It was sold in grocery
stores and door - to ~door. In the 1880’s and 1890’s refiners learned
how to make other petroleum products such as waxes and lubricating
oils. Petroleum was not then used to make gasoline or heatig oil.

16. It can be inferred from the passage that kerosene was preferable to
whale oil because whale oil was too

(A) expensive (B) thick
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17.

18.

18.

20.

(C) hot (D) polluted

According to the passage, many people initially thought that E. L.

Drake had 'made a mistake by

(A) going on a whaling expedition

(B) moving to Pennsylvania

(C) searching for oil

(D) retiring from his job

According to the passage, what is "black gold”?

(A) Whale oil : (B) Gold ore

(C) Stolen money (D) Crude oil

Why does the author mention the California gold rush?
(A) To explain the need for an incfeasgd supply of gold

(B) To indicate the extent of United States mineral wealth

(C) To describe the mood when oil was first discovered
(D) To argue that gold was more valuable than oil

The author mentions all of the following as possible products of

crude oil EXCEPT
(A) wax - (B) gasoline
(C) kerosene (D) lubricator



passage A

In approximately 260 A.D. , a massive volcanic® eruption@ bruied
some highlands of Central America in ash, forcing the Mayan people to
abandon this area for decades and. up to two centuries in the worst hit
areas. The eruption was swift; it occurred in only two identifiable
stages, with almost no interval in between. As a result of the lava out-
let route being under water. steam explosions contributed to the vio-
lence of the eruption, and the rapid cooling of magma to tephra (ash
and other materials) by the lake waters created very small particles,
which the wind carried long distances. The magnitude of the eruption
can be calculated from the three - foot ~ deep ashfall forty —five miles
from the source. One small atea in this region was struck by three ad-
ditional eruptions in the yeafs that followed. These various eruptions
differed in terms of the size of the area devastated and the nature of the
tephra blasted into the air, but in each instance people showed a
dogged determination to reoccupy the lands affected, thereby taking
obvious risks but also reaping the less obvious benefits of volcanic ac-
tivity.

1. Mayans in the area had to leave .
(A) for about 10 years (B) for about 260 years
(C) in two stages (D) for as long as 200 years
2. It can be inferred that the explosion was particularly strong because

(A) the eruption was swift

@ volcanic(vol' keenik) k1LY
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(B) the escape route for the lava was under water

(C) the magma cooled rapidly to tephra

(D) the ash forty - five miles from the source was three feet deep
. The magma was cooled quickly to tehhra thanks to

(A) ash and other materials (B) very small particles

(C) the wind (D) the water of the lake

. The size of the eruption can best be gauged by the fact that

(A) there was deep ash a great distance from the eruption itself
(B) the wind carried particles a great distance

(C) the lava outlet route was under water

(D) three additional eruptions occurred .

. A sequel which all three additional eruptions mentioned in the pas-
sage had in common was

(A) the size of the area devastated

(B) the type of tephra generated

(C) the return of the inhabitants to affected areas

(D) the obvious risks of volcanic activity

- The volcanic eruption in 260 A.D. was probably

(A) swifter than the others mentioned

(B) larger than the others mentioned

(C) two centuries before the others mentioned

(D) later than the others mentioned

. The inhabitants of the area which had been hit by the additional
eruptions

(A) gained some advantages

(B> did not take obvious risks

(C) differed in terms of the areas affected

(D) were determined to keep their dogs on the land affected

passage B

For nearly a century before there was such a thing as a space pro-

gram, a view of space was possible. People could see detailed views of
the Moon, explore Mars, and study the geometric beauty of Saturn’s
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rings. All of this was made possible by a small group of artist ~ as-
tronomers® who made a career of illustrating how other worlds in
space might look.

Lucien Rudaux, a French artist, was the first to combine his
artistic talents with his knowledge of astronomy. His paintings show a
mixture of skilled observations, brilliant imagination, and painstaking
attention to detail. As a result many of his works have come surpris-
ingly close to actual conditions on distant planets. His Painting of
Mars?Z included moonlike craters that were first photographed by the
Mariner 4 probe in 1965. His 1930 painting of a dust storm looks re-
markably like a photograph of a storm taken by Orbiter 2 in 1976.

Thé artist ~astroromers, including Rudaux, stimulated interest in
cuter space by painting what eventually turned out "o "be premse por-
traits of the planete
8. What is the main idea of the passage?

(A) The amazing accuracy of space artists.
(B> The popular success of Lucien Rudaux.
(C> The imaginations of great artists.
(D) The similarities of the Moon to Mars.
9. For how many years have people been able to see pamtmgs showing
the appearance of other planets’)
(A) Nearly five. (B> About fifteen.
(C) About fifty. (D) Almost a hundred.

10. According to the passage, artist — astronomers spent their lives

(A) exploring the planets
(B) studying geometry .
(C)  creating images of space
D) producing rockets for space travel )
11. According to the passage, the works of Lucien Rudaux represent a

@ astronomer(as’ tronama) XX E
@ Mars(ma:2z) XEB
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combination of - . i’
(A) astronomy and mathematics
(B) photography and illustration
(B)  generalizations -and specifics
(D) fact and fiction
12. According to the passage what did the'space probes do?
(A) Created abnormal conditions on-the planets.
(B) Confirmed the space artists work.
(C) Produced new occupations for artists.

(D) Promoted interest in outer space.

passage C

A serious critic has to comprehend the particulaf content, unique
structure, and special meaning of a work of art. And here she faces a
dilemma. The critic must recognize the artistic element of uniqueness
that requires subjective reaction; yet she must not be unduly prejudiced
by such reactions. Her likes and dislikes are less important than what
the work itself communicates, and her preference§ may blind her to
certain qualities of the work and thereby prevent an adequate under-
standing of it. Hence, it is necessary that a critic develop a sensibility
informed by familiarity with the history of art and aesthetic theory. On
the other hand, it is insufficient to treat the artwork solely historical-
ly, in relation to a fixed set of ideas or valdes. The critic’s knowledge
and training are, rather, a preparation of the cognitive and emotional
abilities needed for an adequate personal response to an arotwrk’s own
particular qualities. '

13. According to the auther, a serious art critic may avoid being preju-
diced by her subjective reactions if the

(A) treats an artwork in relation to a fixed set of ideas and values

(B) brings to her observation a knowledge of art history and aes-

thetic theory

(C) allows more time for the observation of each artwork

" (D) takes into account the preferences of other art critics

-11.



